4-5 & 4-6: Triangle Congruence Proofs

EX 1) Given: PW =TW , PO=TS,
W is the midpoint of OS

Prove: aPOW =ATSW

Statement

Reason

EX 2) Given: GI bisects ZFGH and ZFIH
Prove: AGIF =aGIH
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4-5 & 4-6: Triangle Congruence Proofs

EX 3) Given: EEE,ﬁEC_E B
Prove: aAEB =ADEC E
A
Statement Reason
EX 4) Given: AD| CE, A
B is the midpoint of DC

Prove: aABD =aEBC

Statement Reason




4-5 & 4-6: Triangle Congruence Proofs

EX'5) Given: DE isa L bisector of E, D
DF = DC
Prove: aDEF =aDEC F _
E
Reason

Statement




